Prism:

e A polyhedron with exactly two congruent, parallel
faces, called BASES.

e Other faces are called LATERAL FACES.

Base

Lateral Face

Lateral Edge

Vertex

You name a prism by the shape of its base.

Pentagonal Prism

Triangular Prism

Height of the Prism Base of the Prism

Height of the Base Base of the Base

Identify the two bases of this prism and name it.

Hexagonal
Prism

How many lateral faces
are there?



Right Prism: Lateral Faces are Rectangles

Find the total surface area of this rectangular prism.

Lateral edge is an altitude. height
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Surface Area: SA

2 Bases + 4 Lateral Faces

SA: 2B + Lateral Area



Using a net to find SA of a Prism:
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4+5+4+5 = Perimeter of the Base

LATERAL AREA = (Perimeter of the Base)(Height of the Prism)

Using a net to find SA of a Prism:
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B = area of a Base
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Lateral Area: Sum of areas of lateral faces.
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Surface Area = Lateral Area + Area of Bases

SA=LA+2B = 120420y
=168 in*

101in

87 O
5in| 7 ©°

B = area of a base
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Find the surface area of this trapezoidal prism.
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Find the SA of this regular hexagonal prism
to the nearest tenth.
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Find the surface area of this Pentagonal Prism.
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